T-Maxx (49077-1) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Air Fi Ite rs 4976 Wheels (4)/ Axles (2), for Maxx wheelie bar ..............cccceiieiniinnns $4.00
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

5262 Air filter and pre-filter inserts, foam (high-volume) (3) (pre-oiled, bearings (4)/ axles (2)/ FUDDE tIres (2).........erurrrsmmmssrrrsrirees $19.95
a_ssgmbled) (TR_X 2.5, 2.5R, 3_.3) ................................. R $10.00 g,gg Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
5267  Air filter body (high-volume)/ filter support/ cap/ foam filter, pre- bearings (4)/ axles (2)/ rubber tires (2
filter/ T-Maxx filter base (angled)/wire mount/hardware (1 B
each) (Fits Maxx trucks) (TRX 2.5, 2.5R, 3.3) Chassis & Attachments
5263  Oil, air filter 3170X Battery holder, 4-cell/ on-off SWItCh...........cccoeveririvieiereiiriseeeecen $5.00
. Bearings & Bushings 4925X gﬁ;’ (t;igﬁg)(grey)/ adhesive foam chassis pad/charge jack 5475
4611 Ball bearings (SX11XAMM) (2) ..ooovvvvvvviisissnsinniisnnie $6.00 5159  Box, receiver (upper and lower halves)/ clip (1)/ foam pad............ $7.00
2728  Ball bear_mgs (5x8x2.5mm) (2) ~ $8.00 4953 Chassis braces, lower (black) (for long wheelbase chassis) (2)...... $8.00
5119  Ball bearings, blue rubber sealed (10x15x4mm) (2). $7.00  5190% Chassis, T-Maxx, long wheelbase (extended 30mm) (6061-T6
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2)... $3.50 aluminum, 4.0mm) (blue anOdized) .............ovveorrveeeerrerereeeesree. $60.00
5114  Ball bearings, blue rubber sealed (5x8x2.5mm) (2).. $4.00 5167  Sslide carb linkage bellcrank post/ 5x8x2.5 plastic bushing (2)/
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2)... $4.00 bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM............cccovrerrerreneen. $2.75
5180  Ball bearings, blue rubber sealed (6x13x5mm) (2). $4.00 5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels)..... . $7.00
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2) .. . $6.00 4974 Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) . $10.00
2545  Bellcrank bushings (plastic) (5x8x2.5mm) (4 .. $3.00 4977 Wheelie bar mount @).... $7.00
Body & Accessorles 4975 Wheelie bar, assembled (fits all Maxx trucks). $20.00

1926
5526
5526R

1726
3170X
3935
1834
3934
4914R

1815
4915
4921

4921X

2514
4920X
9950
5185
4974
4977
4975
4976
5186A

5186

4966
4967
5364
5364X
5365

4978

3930
4936

4935X
4935
2579
4937A
4937
4938A
4938
4969
5185
4974
4977
4975

4976  Wheels (4)/ Axles (2), for Maxx wheelie bar
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

Antenna caps, vinyl (2)/ antenna Spool .........cccocevriiieiiieeniiennns $2.00
Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools..  $4.00

Ant A ¢ alumi d dized) ant t bearings (4)/ axles (2)/ rubber tires (2)......cccovevrieerieiiniieiieiiens $19.95
wrz)lesnna crimp nut, aluminum (red-anodized)/ antenna nu $4.00 5186 Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' ' bearings (4)/ axles (2)/ rubber tires (2)........c.cccccoveviiviiinnnne.. $19.95

Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)..
Battery holder, 4-cell/ on-off switch .............cccceeveenns

Clutch & Related Parts

Body clip (mounting clip), angled, 90-degrees (10) .. $3.00 4611 Ball bearings (SX1IXAMM) (2) ...vovveieiveierereririeeseeeeeseeseses e $6.00
Body clips (12) (standard size).... .. $2.00 4120 Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

Body clips, heavy duty (12) ........ccooviiieiiiiieiieiie e $3.00 clip (requires #4611-ball bearings, 5x11x4mm (2)

Body mount posts, front (2)/ body mount, rear/ body mount screw 4122  Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

pins (4) clip (requires #4611-ball bearings, 5X11x4mm (2))..........cccvvernnnne. $12.00
Body washers (8) . . 4124  Clutch bell, (24-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

Body washers, foam adhesive (10) ... $2.00 clip (requires #4611-ball bearings, 5x11x4mm (2))

Body, T-Maxx (long wheelbase) (clear, requwes pamtmg)/ 4146X Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec) .

window, lights decal sheet ..............ccccoooiiiiiiii $25.00 3281 Cone, split beveled...........ccccoeoveeiicincniie .. $3.00
Body, T-Maxx, ProGraphix (long wheelbase) (replacement for 1633 E-clips/ C-rings $2.00
painted body. Graphics are painted- requires paint and final 6542X Flywheel (large, knurled for use with starter boxes) . $12.00
color application)/ window, grill, lights decal sheet ................. $34.99 5244 Flywheel nut (TRX 2.5, 2.5R, 3.3) .. $4.25
Decal sheet, racing SPONSOrs...........cocovviiimiininieiees Flywheel with magnet (35mm) $8.00

Decal sheets, T-Maxx 3.3 (long wheelbase) (model 4908).... PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)...

Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50 - .
Tires, rubber (2) (fits Traxxas wheelie bar wheels).................... leferentlal Components
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) .......... 5119  Ball bearings, blue rubber sealed (10x15x4mm) (2)
Wheelie Dar MOUNt (1).......ceviveveeeeeeeeeeeeeeeeeeeeeeseseeseeseeseneseeeeeenes ) 5117  Ball bearings, blue rubber sealed (6x12x4mm) (2) ...
Wheelie bar, assembled (fits all Maxx trucks) 5118 Ball bearings, blue rubber sealed (8x16x5mm) (2)
Wheels (4)/ Axles (2), for Maxx wheelie bar 5381 Carrier, differential/ x-ring gaskets (2)/ ring gear gasket/ 6x10x0.5

Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2).......cccovevveverevreerererrnennns . 5136X Differential oil kit (1 each: 10K, 30K, 50K weights)
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball 5382X Gear set, differential (output gears (2)/ spider gears (2)/ spider
bearings (4)/ axles (2)/ rubber tires (2)..........coocoovvevriiiriiinnns $19.95 gear shaft/ diff carrier support)
3979 Housings, differential (left & right)/ pinion collar (1)
Brake Components 5130 Oil, differential (100K weight) (.7 oz (ZOcc))

Brake adapter, hex aluminum (blue)
Brake cam (blue)/ cam lever/ 3mm set screw.
Brake disc (40mm steel).......... 5039 Oil, differential (500K weight)
Brake disc (high performance, vented) 5137 Oil, differential (50K weight).....
Brake pad set (inner and outer calipers with bonded friction 5379X Ring gear, differential/ pinion gear, differential

material) Screws, 2.5x8mm cap-head machine (6
Screws, 3x21mm button-head machine (hex drlve) (partlally . .
threaded, Revo brake Dolts) (6).............ocowvevoeoeveeeeeerrcecnnna. . Driveline Components

5135 Oil, differential (10K weight)
5136 Oil, differential (30K weight)

H 5334  Axle carriers, left & right (1 €aCh) .......cccooviiiiiiiiiiiiicic i $8.00

Bumpers & Skldplates 5334R Axle carriers, left & right (1 each) (use with larger 6x13mm
Bulkhead cross braces (2)/ 3x25mm CS SCrews (8).........c.ccceeuee. $3.50 ball bearings)/ bearing adapters (for 6x12mm ball
Bumper mounts, front (I&r)/ bumper mounts, rear (I&r)/ 3x12mm bearings) (2)/ dust boot retainers (4) .......cccecoeueeeeveeresrecrrrrerennns $10.00
RHM screws (8) IR TROOTS . 5459  Boots, driveshaft (TUBDEN) (2)........c.covveveeeeeeeeeeeeereeereeeseesreeeneereens $2.50
Bumpers, 6061-T6, brushed aluminum (f&r) 5153 Drive cups, inner (2) Revo/Maxx (steel constant-velocity
Bumpers, satin finished (f&r) driveshafts)/screw pin, MA/15(2) ......ooveereerreeneeieeseeeseeeenees $8.00
Screws, 3x15mm button-head machine (hex drive) (6) 5451X Driveshaft assembly (1), left or right (fully assembled, ready to
Skidplate, front plastic (grey)/ stainless steel plate................ccccc..... . install)/ 4X15mMm SCreW PiN (1) ....eeveeerierieriirieniesieeesieseeeesee e $12.00
Skidplate, front plastic/ stainless steel plate (black).. . 5154 Driveshaft, steel constant-velocity, Revo/Maxx (shaft only,
Skidplate, rear plastic (grey)/ stainless steel plate...............cc........ . 128.5mm)/ drive CUP PiN (1) coovevoeeieiiiiiieiiesee e $10.00
Skidplate, rear plastic/ stainless steel plate (black) 5451R Driveshafts, Revo/Maxx (steel constant-velocity)(assembled
Skidplate, transmission, nylon (grey) (for long wheelbase chassis)  $6.00 wlinner & outer dust boots) (for models w/sealed pivot ball
Tires, rubber (2) (fits Traxxas wheelie bar wheels)................... $7.00 suspension & 3.8" wheels)(4)

Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) .......... $10.00 5150 E-clips, 1.5mm (24)....
Wheelie bar mount (1) . 5456 Half shafts, center front (Revo 3.3) (internal splined (1)/ external

Wheelie bar, assembled (fits all Maxx trucks) splined (1)/ center rear (internal splined (1)/ external
splined (1)) (plastic parts ONly) ........ccccooeeirieeineee e $4.25

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com REV. 141205 1450



Page 2 T-Maxx: TRX 3.3, TQi 2.4GHz Radio System & Traxxas Link Wireless Module (49077-1) Parts List

4955
5129

5145
5189
5454
5166
5452
4954
4954R
4954X

5353X

5353G

5353R

5353
5353A
5457
5458X
5453

5160
4960X

3159

4918
4918X

4918A
4919
4919X

4919A

5238R

3232X
5228
5290
5211R

4859
3932
5277

3155
3296
4961

5140

5256
5246

2577
5142

5487

5280
5281
5273
5270R

5276
5148

Pins, axle (2.5X12MM) (4) .ooooueeeiieeiiee e $1.00 5275 Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor
Rebuild kit (for Revo/Maxx steel constant-velocity bushing (EZ-Start 2)

driveshafts) (includes pins, dustboots, & lube for 2 4581 Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)

driveshafts assemblies).. .. $7.00 4581X Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex
Screw pin, 4X15mm (6) .....coevvrveriiieiniiennnne .. $3.50 pin extractor (use where glow plug wire does not have bullet
Screw pins, 4x13mm (with threadlock) (4) $3.50 CONNECEOT ).ttt
StUD aXIe (StEEI) (2)..vvereerieieieiieiieie sttt $5.00 5279 Motor (hi-torque)/ pinion gear/ motor bushing (EZ Start 2) .

Stub axle, (1)/ axle sleeve (1) Revo/Maxx (steel constant- 5211R Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
velocity driveshaft) ..o $7.50 2.5,25R,3.3)

U-joints, driveshaft (carrier (4)/ 4.5mm cross pin (4)/ 3mm cross 5169 Screws, 2.6x8mm countersunk machine (6)

pin (4)/ e-clips (20)) (metal parts for 2 driveshafts) .............ccccceennee. $10.00 5282 Screws, 3x12mm button-head machine (6) (starter attachment
Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2) .. .. $2.50 screws with Threadlock)

Wheel hubs, hex (steel) .. $3.00 2578 Screws, 3x12mm button-head machine (hex drive) (6).... .
Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle 5277  Shaft, starter (TRX 2.5, 2.5R, 3.3) ..o
PINS (2.5XL10MM) (4)eeiiieiiieiie e . H H

Wheel hubs, splined, 177mm (blue-anodized) (4)/ wheel nuts, . FI’OI’] Suspensmn Steerlng

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with 4934X Aluminum caps, pivot ball (blue-anodized) (4)......cccceevveenieennns $9.00
EAFEATIOCK) (4) oo $25.00 5334R Axle carriers, left & right (1 each) (use with larger 6x13mm
Wheel hubs, splined, 17mm (green-anodized) (4)/ wheel nuts, ball bearings)/ bearing adapters (for 6x12mm ball

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with bearings) (2)/ dust boot retainers (4)

EIEAAIOCK) (4) wovvrvriicieireieciee et $25.00 2728 Ball bearings (5x8x2.5mm) (2)

Wheel hubs, splined, 17mm (red-anodized) (4)/ wheel nuts, 4944  Bellcrank posts, aluminum (2)/ steering link threaded

splined, 17mm (red-anodized) (4)/ screw pins, 4x13mm (with rod (3x25mm)/ long rod ends (2)

threadlock) (4) .... .. $25.00 3930 Bulkhead cross braces (2)/ 3x25mm CS screws (8)

Wheel nuts, splined, 17mm (blue-anodized) (4)... .. $10.00 4930R Bulkheads (I & r) (front) (Grey) .....cceeuereerieeriiieirie e
Wheel nuts, splined, 17mm (green-anodized) (4)............co.o...... $10.00 4930X Bulkheads, front (machined 6061-T6

Yoke, brake (1)/ torque pins (2)/ 4x15mMm SCrew pin ..........cc.......... $4.00 aluminum) (blue) (I&r) (requires use of 4939X suspension
Yokes, differential and transmission (2)/ 4x15mm screw pins (2)... $4.00 PINS) oo

Yokes, stub axle (2)/ PiNS (2)........ccuuuiiii $4.00 5134 Caster spacers (4)/ shims (4)
5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mm (2)

Engine mount, aluminum/ 3x10 CS with washers (8) .................... $11.00 5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs rubber (4)/
Engine mount, machined 6061-T6 aluminum (blue) (w/ dust boot retainers, black (4), blue (4) (2 pkgs. reg. to complete
screws) (Maxx Series) EFUCK) v $6.75
Screws, 3x10mm caphead machine (hex drive) (6)/ 4933  Pivot balls (4)/ pivot ball cap bushings (4) ........cccoceiviiiiiiiiciies $6.00

lockwashers (6)/ hex wrench 4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

Servo mounts, steering/ shift (f&r) (black) €ap bushings (4).....ccoeiiiiiiiiic e
Servo mounts, steering/ shift (machined 5347 Rod ends, Revo (large) with hollow balls (12)
aluminum) (blue) (f&r)/ machine screws (8) 2742X Rod ends, short (6)/ hollow balls (6)
Servo mounts, steering/shift (f&r)(grey) 4859  Screws, 3x10 flathead machine (hex drive) (4)

Servo mounts, throttle/ brake (1) (black)........cccooviieniiiiieiinnns . 5345R Servo horns, steering, long (2), short (2)/ linkage,
Servo mounts, throttle/ brake (machined steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow
aluminum) (blue) (f&r)/ machine screws (8) balls (4)

Servo mounts, throttle/brake (1) (grey).......ovvveveieviiincnininennns . 2070 Servo, digital high-torque (ball bearing)....
4917R Shock tower (for rectangular body posts)

Engme Components 4945  Steering bellcranks/ servo saver/ servo saver spring/ servo spring

Cooling head, PowerTune (machined aluminum, blue- retainer (requires 5x11mm BB (2)) ........... . $12.00
anodized) (TRX 3.3), head protector (1), 3x6mm CCS (5) 5132R Suspension arms (lower) (2) (fits all Maxx series) . $7.50
Glow plug, super—duy (long-medium)/gasket.................... 5131R Suspension arms (upper) (2) (fits all Maxx series).... . $7.50
H_ead protector, cooling head (1)/3x§mm CCS (5) (TRX 3.3) - 5161 Suspension screw pin set, hardened steel (hex drive).................... $9.00
Piston/sleeve (matched set), wrist pin clips(2) (TRX 3.3) ......cccue.... . 5141A Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX stronger than titanium) (112mm, front) (2)/ rod ends (4)/

2.5, 2.5R, 3.3) ................................................................................ $22.50 aluminum wrench (]_) (For Maxx models w/sealed pivot ball

Screws, 3x10mm flat-head machine (hex drive) (4).. . $1.75 sSUSPeNsion & 3.8 WheelS) ..o $25.00

Screws, 3x6mm flat-head machine (hex drive) (6) ...
Shaft, starter (TRX 2.5, 2.5R, 3.3)...ccccviiiiiiiiinnne
Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3

$2.50 5141R Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

$9.00 stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels)

5141 Turnbuckles, toe links (5.0mm steel

Fuel Tank & Line

Cable ties, medium (black) (6)
Fittings, inlet (nipple) for fuel or water cooling (2) ..

Hanger, metal wire (for Resonator pipe in T-Maxx with long Fuel line (1 foot)

wheelbase)/ telemetry sensor wire hold-down clip ........ccccceevieennne $2.00 3147X Fuel line (610mm or 2ft) .

Header, aluminum (T-Maxx) (for rear exhaust engines only) (TRX 4948  Fuel Tank (125CC) ....ocovvvviiiiiiiiiiiiiiciccin e

2.5, 2.5R, B.3) sttt $20.00 4958 Fuel tank rebuild kit (contains cap, foam washer, o-ring,
O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3)...ccccovvvreneinnennens $1.20 upper/lower retainers, screw, spring and screw pin).

Heat shield tubing, fiberglass (2) (black

Fuel, Lubricants & Supplies
Bottle, fuel filler (500cc)

Pipe coupler, molded (for use with pipes 5152 (T Maxx) &
4452R) (TRX 2.5, 2.5R, 3.3) oo
Screws, 3x10mm button-head machine (hex drive) (6)

Screws, 3x15mm cap-head machine (hex drive) (with split and
flat washers) (6) ...... $2.75 3230 Glow plug, standard (long-hot)/ gasket

Tuned pipe, Resonator, R.O.A.R. 3232X Glow plug, super-duty (long-medium)/gasket
chamber) (fi i i i iNes)................ $55.00 5148 Grease, white lithium
5263 OQil, air filter
5001R Rebuild kit, fuel filler bottle (includes bottle lid (1) and
Connector, wiring harness (EZ-Start and EZ-Start 2) .. dispensing tube caps, rubber (2) (fits 8mm or 5/16"

Control box (complete) (EZ-Start 2) . dispensing tube))
Control box battery cover w/ belt clip (EZ-Start 2) .........c.cccoovervennnn $4.00 5060 Top Fuel, 10% nitro (gallon) ..
Cush-drive elements (4) (EZ-Start 2) .........ccoeeveiieiieiieeieeieeeeens $2.50 5010 Top Fuel, 10% nitro (quart)....
EZ-Start 2, complete system with controller, drive unit, wiring 5070 Top Fuel, 20% nitro (gallon) ..
NAINESS ... . 5020 Top Fuel, 20% nitro (quart)....
Gear set (complete) (EZ-Start 2) 5080 Top Fuel, 33% nitro (gallon) ..
Grease, white lithium 5030 Top Fuel, 33% nitro (quart)

>
Py
5}
5
N
c
3
=
c
E
a
9]
c
=2
)

REV. 141205 1450



Page 3 T-Maxx: TRX 3.3, TQi 2.4GHz Radio System & Traxxas Link Wireless Module (49077-1) Parts List

Hardware

5526
55626R

3935
1834
3934
3930
5150
1633
5477
5478
3980
2584

2586

5476X
5355

5475
2745
4147X

5147X
4147
3982
1985
5347
2742X
3215
3965
5169
2562
3161
4859
2577
3159

2551
5282

2578
2552
2579
5142

2553
2580
4978

2554
3932
2576
2550
4897
2743
3642X
3981
2746

5299R

3062

1726
6548

2914
3037
2919

2734
2977
2970

Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools..  $4.00
Antenna crimp nut, aluminum (red-anodized)/ antenna nut

tools ... $4.00
Body clip (mounting clip), angled, 90-degrees (10) .. .. $3.00
Body clips (12) (standard Siz€)...........ccocvriiiiiiiiiinieeee e $2.00

Body clips, heavy duty (12) $3.00
Bulkhead cross braces (2)/ 3x25mm CS screws (8). .. $3.50
E-ClipS, 1.5MM (24) ..oiiiiiiiiiiei et $1.50
E-ClPS/ C-TINGS...tiitieuieiieiieieiieesie ettt sttt sse e nae e $2.00
Flat wrench, 5mm (blue-anodized aluminum) $4.00
Flat wrench, 8mm (blue-anodized aluminum) $4.00
Glow plug wrench (universal Wrench) ........c.ccocovevieiienieiiennens $2.00
Head screws, 3x12mm cap-head machine (hex drive) (6) (TRX
2.5,2.5R,8.3) it $2.50
Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

2.5) $2.50
Hex wrenches; 1.5mm, 2mm, 2.5mm, 3mm, 2.5 ball...................... $6.00
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mMm (2) ....ccooeevveiiiiieniiennieenns $4.75
Multi-tool (plastic) $2.50
Nuts, 3mm nylon locking (12) $2.00
Nuts, 5mm flanged nylon locking (aluminum, blue-

anodized) (4) $6.00

Nuts, 5mm flanged nylon locking (steel, serrated) (8) ............c....... $3.50
Nuts, 5mm nylon locking (8) $2.00
PTFE-coated 6x8x0.5 (10) . $1.25
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)... ~$2.00

Rod ends, Revo (large) with hollow balls (12) $9.00
Rod ends, short (6)/ hollow balls (6)..............ccc.... $4.00
Screws, 2.5x6mm cap-head machine (hex drive) (6) $2.00
Screws, 2.5x8mm cap-head machine (6) .............. $2.50
Screws, 2.6x8mm countersunk machine (6) $2.00
Screws, 2.6x8mm roundhead machine (6) ...........cccccevvveiieieennenns $1.50
Screws, 2x8mm countersunk machine (6) .. $1.50
Screws, 3x10 flat-head machine (hex head) (4) ..........ccoevviirnnns $1.75
Screws, 3x10mm button-head machine (hex drive) (6) ...........c...... $2.50
Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ heX WIreNCh ..........cccooiiiiiiiiic e $2.75
Screws, 3x10mm countersunk machine (6) (hex drive)................. $2.50
Screws, 3x12mm button-head machine (6) (starter attachment

screws With Threadlock)..........coeevieereiieeceeieeeee e $3.00
Screws, 3x12mm button-head machine (hex drive) (6) ... $2.50
Screws, 3x12mm countersunk machine (6) (hex drive)... $2.50
Screws, 3x15mm button-head machine (hex drive) (6) $2.50

Screws, 3x15mm cap-head machine (hex drive) (with split and
flat WaShErs) (B) .....ccovveiieeiieiiieiierieee e $2.75

Screws, 3x15mm countersunk machine (6) (hex drive) $2.50
Screws, 3x20mm button-head machine (hex drive) (6) $2.50
Screws, 3x21mm button-head machine (hex drive) (partially

threaded, Revo brake bolts) (6) $2.50
Screws, 3x6mm cap-head machine (hex drive) (6) .. $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) ... $2.50
Screws, 3x8mm button-head machine (hex drive) (6) . $2.50
Screws, 3x8mm countersunk machine (6) (hex drive). $2.50
Screws, set (grub) 4mm (6) (with threadlock)........ $3.00
Set (grub) screws, 3mm hardened (12)............... $3.00
Shoulder screws, Ultra Shocks (3x12 hex drive) (6). $3.00
Washer, PTFE-coated 6x9.5x.5 (10). . $1.25
Washers, 3x6mm metal (12 $1.50

Engine Manual, TRX 2.5, 2.5R, 3.3 $7.50
Radio System, Batteries & Chargers

Adapter, Traxxas connector female to Molex male (1) (Note:
Molex connector not suitable for high current use)..................
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)
Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,
6528, 6529, 6530 transmitter) .
Battery, Power Cell AA Alkaline (4).......... $3.99
Battery, RX Power Pack (5-cell hump style, NiMH, 1200mAh) . $30.00
Battery, Series 1 Power Cell 1800mAh (NiMH, 6-C flat, 7.2V,

Sub-C)

Cable ties (small) (10) $2.00
Charger, DC, 2 amp (Molex) (5 - 6 cell, 6.0 - 7.2 volt, NiIMH) ......... $26.00
Charger, EZ-Peak Plus, 4 amp, LiPo/NiMH with iD Auto

Battery 1dentifiCation ..........cccoeiiiieeieieieiere e $65.00

6525 Communication link, telemetry expander
2010 Gear set (for 2018 servos)
2072 Gear set (for 2070, 2075 servos)
6556 Mount, telemetry expander (fits XO-1, E-Revo*, Summit*, all
Maxx trucks, Revo 3.3, Slayer Pro 4X4) (*requires rear

chassis brace #5632) .........ccceiiiiiiiieieee e $10.00
6536 Mounts, RPM sensor (nitro engines)/ 3x10mm CS with split and

flat WaSHErs (2)......coveiieiieiieeeee e $4.00
3031 Power adapter, AC (for TRX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ).................... $19.00

3032 Power adapter, DC (12V car adapter for TRX Power Charger).. $7.50
6518 Receiver, micro, TQi 2.4GHz with telemetry (5-channel) $50.00
3932  Screws, 3x6mm flat-head machine (hex drive) (6).... $2.50
6552  Seal kit, expander box (includes o-ring, seals, and silicone

grease)
6526 Sensor, auto-detectable, temperature
6527 Sensor, auto-detectable, voltage
6520 Sensor, RPM (long)/ 3x4mm BCS (2)/ 3x4 GS (1).

6521 Sensor, temperature and voltage (long) ......... .. $12.00
2041 Servo case (for 2018 servo).............. .. $3.00
2071  Servo case (for 2070 SEIVO) .........ccrvvereereerireireneeneeneenieens .. $3.00
2074 Servo case/gaskets (for 2056 and 2075 waterproof servos) ..... $6.00
2070 Servo, digital high-torque (ball bearing)............cccocevieiiennne .. $40.00

2075 Servo, digital high-torque (ball bearing), waterproof..
2018 Servo, standard.... .
6550 Telemetry expander, TQi radio system.... .
6551 Telemetry GPS module, TQi radio system
6507X TQi 2.4 GHz radio system, 4-channel with Traxxas Link

Wireless Module (4-ch transmitter, 5-ch micro receiver)........... $200.00
6529  Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
3-channel (transmitter ONly)..........cccooveiieiieiieseeeeeee e $105.00

6530 Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
4-channel (transmitter only)
6511 Traxxas Link Wireless Module
3034 Wiring harness for RX Power Pack, Traxxas nitro vehicles
includes on/off switch and charge jack)..........ccc.cccooeviiniinnenns $5.00

Ready-To-Race Model
49077-1 T-Maxx 3.3: 1/10 Scale Nitro-Powered 4WD Maxx Monster
Truck with TQi 2.4GHz Radio System and Traxxas Link
Wireless MOGUIE ........ouviiiiiiiiiiiicc e Call

Rear Suspension

4934X Aluminum caps, pivot ball (blue-anodized) (4)
5334  Axle carriers, left & right (1 each)
5334R Axle carriers, left & right (1 each) (use with larger 6x13mm

ball bearings)/ bearing adapters (for 6x12mm ball

bearings) (2)/ dust boot retainers (4) .......cccccvvervinienienieninenns $10.00
4914R Body mount posts, front (2)/ body mount, rear/ body mount screw

PINS () 1ottt
3930 Bulkhead cross braces (2)/ 3x25mm CS screws (8)
4929R Bulkheads (I & r) (rear) (grey)
4929X Bulkheads, rear (machined 6061-T6

aluminum) (blue)(1&r) (requires use of 4939X suspension

PINS) ettt
5134 Caster spacers (4)/ shims (4)
5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 1.27mMmmM (2) ..cccovevveiieiieiieieeeeeen $4.75
5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/

dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

truck)
4933  Pivot balls (4)/ pivot ball cap bushings (4) ...
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

cap bushings (4)
5347 Rod ends, Revo (large) with hollow balls (12)
5348 Rod ends, Revo (large, for rear toe link only) (4)
4917R Shock tower (for rectangular body posts)
5132R Suspension arms (lower) (2) (fits all Maxx series) .
5131R Suspension arms (upper) (2) (fits all Maxx series)
5161 Suspension screw pin set, hardened steel (hex drive)
4956  Tie bar, rear (1) /3x18mm BCS (2) (fits all Maxx trucks)
5143A Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

sSUSPeNsion & 3.8' Wheels) ........ccccveiiiiiiiiciieee e $25.00
5143R Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

SUSPEeNSIion & 3.8" WheelS) ......ccccoviiiiiieiieiicceee e $25.00
5143  Turnbuckles, toe links (5.0mm steel) (rear) (2) ......cccoeevvervveenieennnns $10.00

REV. 141205 1450



Page 4 T-Maxx: TRX 3.3, TQi 2.4GHz Radio System & Traxxas Link Wireless Module (49077-1) Parts List

Recoil Starter poall
5277 Shaft, starter (TRX 2.5, 2.5R, 3.3).....ccceevrerrrrrrresseeressensessesessensons $9.00 535x
5170 Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3) ....... $20.00
Shocks (Pro-level Aluminum) 5345R
2666 Big Bore shock cylinder (XX-10ng) (1) «oooveeverveiieiienieiieieeee $8.00
2662 Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6 4918
aluminum) (assembled with TiN shafts) w/o springs (rear) (2) $30.00 4918X
4962 Big Bore shocks (xx-long) (hard-anodized & PTFE-coated T6
aluminum) (assembled) w/ red springs, TiN shafts (8 pack)..... $99.99 4918A
2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting 2070
bushings & washers (2) (Big Bore Shocks) .......ccccccevveiiiinennn. $2.50
2362 Rebuild kit, Ultra shocks (for 2 Shocks .........cccceiiieiiiiiiiienen, $2.50 4945
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball 2537
SCIEWS (2) evveeiteeerieeeeeiteeesiee e st e et e e sine e sbe e e sbeeeaineeans 7.00
2742X Rod ends, short (6)/ hollow balls (6) .
3962 Set (grub) screws, 3x25mm (8)/ 3mm nylon locknuts (8).......... $3.50 1633
2667 Shock caps, aluminum (2)/ (Big Bore Shocks) ......ccccccevverinennen. $7.00 5355
2656T Shock shafts, hardened steel, titanium nitride coated (xx-
1ONG) (2)ervveriseiiiii 5347
2656 Shock shafts, steel, chrome finish (xx-long) (2) 2742X
1765 Silicone diaphragms (4) 3744
1666 Silicone shock oil (30 wt) 3642X
2668 Spring retainers, upper & lower (2)/ spring pre- Ioad spacers: 5161
Imm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore 5141A
Shocks) ......................................................................................... $5.50
bore shocks) (2.5 rate) (2)... .
Shocks (Ultra Shocks)
3766A Body, Ultra Shock(s) (XXL) (grey) (2) $3.00 °M43A
2362 Rebuild kit, Ultra shocks (for 2 shocks
2742X Rod ends, short (6)/ hollow balls (6)
3767 Shock caps (2)/ shock bottoms (2) 5141R
3767A Shock caps, aluminum (blue-anodized) (4) (fits all Ultra
SHOCKS) 1.ttt ettt sttt sae e snenaeas $14.00
3767G Shock caps, aluminum (green-anodized) (4) (fits all Ultra
SHOCKS) 1.ttt ettt sttt st nne e $14.00 5143R
3767X Shock caps, aluminum (red-anodized) (4) (fits all Ultra
SHOCKS) 1.ttt sttt sbesaenne e $14.00
2656T Shock shafts, hardened steel, titanium nitride coated (xx-
[ONG) (2) 1eteereeeieiietierie ettt enaens $10.00 5141
2656  Shock shafts, steel, chrome finish (xx-long) (2).....
3642X Shoulder screws, Ultra Shocks (3x12 hex drive) (6).
1765 Silicone diaphragms (4).. .
1666  Silicone shock il (30 wt) . $2.00 2514
3769  Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2)..... $4.00 9950
3768  Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3- 9909
NOIE (2)). e 3.00
4957R Springs, progressive rate (for Ultra-Shocks 4967
only) (progressive rate) (f/r) (4) .cocoeoveoieiieiieieee s $8.00
3757R SPIiNgS, rear (red) (2.9 FALE) (2) .rrrrrrosssreeeeeeesseeeeeseeeereeesreos $4.00 3182
4957  Springs, red (for Ultra Shocks only) (2.5 rate) (fr) (2) $2.50 147X
3762 Ultra Shocks (black) (xx-long) (complete w/ spring pre-load 3180
spacers & SPrings) (Fear) (2) ....coeoveeeereeieeieesee e $18.00 4182
3762A Ultra shocks (grey) (xx-long) (complete w/ spring pre-load 5167
SPACETS & SPHNGS) (2) .vvvviiiiiiiiiiiieii e see e $18.00 5168
Slipper Clutch Components 4056

5116 Ball bearings, blue rubber sealed (5x11x4mm) (2)... .
5478 Flat wrench, 8mm (blue-anodized aluminum)........c.c.cccovernenen.
5366 Input shaft, transmission (slipper shaft) ..........cccccovieeiiieiiiiiinnen.
5352R Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum 4147X
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) .oooovvvrerrrerenenns $9.50 ©S147X
5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/ 4955
2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) ............ $7.50 5666
2554  Screws, 3x6mm cap-head machine (hex drive) (6) .
5351 Slipper pressure plate and hub (alloy) ...........ccocooeviiiiiiiiins $8.00 5664
Spur Gears 5667
3956 Spur gear, 54-tooth (0.8 metric pitch, compatible with 32-
pitch) 5665
3957 Spur gear, 56-tooth (0.8 metric pitch, compatible with 32-
PIECR) e $3.00 5374X
3958  Spur gear, 58-tooth (0.8 metric pitch, compatible with 32-pitch)..... $3.00
3959 Spur gear, 62-tooth (0.8 metric pitch, compatible with 32-
5374
Steering Components 5674

2728 Ball bearings (5x8x2.5mm) (2) . .
5116 Ball bearings, blue rubber sealed (5x11x4mMmm) (2) .......c.cccovvervenen. $3.50
4944  Bellcrank posts, aluminum (2)/ steering link threaded

rod (3x25mm)/ 10Ng rod €NAS (2) ......ovverriiriireiieiee e $7.00

Rod ends, Revo (large) with hollow balls (12)

Screws, 3x15mm button-head machine (hex drive) (6)
Servo horns, steering and throttle (for non-Traxxas
servos (Hitec, JR, KO, Airtronics))......cccooeveerieeriicniienieneeseenen $10.00

Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow
balls (4)
Servo mounts, steering/ shift (f&r) (black)
Servo mounts, steering/ shift (machined
aluminum) (blue) (f&r)/ machine screws (8)
Servo mounts, steering/shift (f&r)(grey)
Servo, digital high-torque (ball bearing)
Steering bellcranks/ servo saver/ servo saver spring/ servo spring
retainer (requires 5x11mm BB (2)) .
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw

Suspension Linkage

E-ClIPS/ C-TINGS .t
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mm (2)
Rod ends, Revo (large) with hollow balls (12)
Rod ends, short (6)/ hollow balls (6)
Servo saver w/ adapters
Shoulder screws, Ultra Shocks (3x12 hex drive) (6)
Suspension screw pin set, hardened steel (hex drive)
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suUSpension & 3.8 Wheels) ..o
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,
stronger than titanium) (124mm, rear) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
sSuUSpPension & 3.8 WheelS) ..o
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suSpension & 3.8" Wheels) ...
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (124mm, rear) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
sSuUSpension & 3.8" Wheels) ........cccooveiiiiiciieceeeec e
Turnbuckles, toe links (5.0mm steel) (front) (2)
Turnbuckles, toe links (5.0mm steel

Team Traxxas Iltems
Decal sheet, racing SPONSOIS .......cciiiiiiiiieaiieeiiie e

Official Team Traxxas racing decal set (flag logo/ 6-color)..
Traxxas racing banner, red & black (3x7 feet

Throttle & Brake Linkage

Brake cam (blue)/ cam lever/ 3mm set screw
Collars, screw (2)/ set screws, 3mm (2)....
Fuel line (6120mm or 2ft)
Rod guides (2)/ 3mm nylon locknuts (2)
Servo horn, throttle-brake/ shift (1)
Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushlng )/
bellcrank/ 5x8x0.5 fiber washer (2)/ 3X10 WM ........cccccvoviiiciiennens
Slide carb linkage set (throttle link, brake link, and hardware)
Spring, throttle return (2) (Jato, T-Maxx 2.5R, 3.3)
Springs: throttle/brake/shift (3

Tires & Wheels

Nuts, 5mm flanged nylon locking (aluminum, blue-
anodized) (4)
Nuts, 5mm flanged nylon locking (steel, serrated) (8) ..
Pins, axle (2.5x12mm) (4)
Sidewall protector, beadlock style (blue) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels)..........cccccoeeiieiiieniciicieen,
Sidewall protector, beadlock style (green) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels)..........cccccovevieiieiiiciicieee,
Sidewall protector, beadlock style (red) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels)...........ccccoeviiiiieiiciicieee,
Sidewall protector, beadlock style (yellow) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels)...........ccccovevieiiiiiciicieee.
Tires & wheels, assembled, glued (Gemini black chrome
wheels, Talon tires, foam inserts) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X).......cccccueiieiieiiiiieiieie e
Tires & wheels, assembled, glued (Gemini chrome wheels,
Talon tires, foam inserts) (2) (fits Maxx/Revo series)
Tires & wheels, assembled, glued (Geode chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (use with
17mm splined wheel hubs & nuts, part #5353X & beadlock-
style sidewall protectors, part #5665, 5666, 5667)

REV. 141205 1450



Page 5 T-Maxx: TRX 3.3, TQi 2.4GHz Radio System & Traxxas Link Wireless Module (49077-1) Parts List

4973R

5174A

4983A

5173

5174

5174R

5375R

5670

4973

5171
5375

5471
5470
5370
4954
4954R
4954X

5353X

5353G

5353R

5353
5353A
5480X
5371

5372A
5372X

5372
5671

5373

5172A

5172X

5172R

5172

4611
5119
5116
5117
5394X
5394
5383

5385

5384

5386
5181

5366

Tires & wheels, assembled, glued (Hurricane chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (fits Revo/Maxx
=T 1) PP PPP VSR PPROOE
Tires & wheels, assembled, glued (Split-Spoke satin-finish
wheels, Talon tires, foam inserts) (2) (fits Maxx w/sealed
pivot ball suspension & REVO) ........ccccuviiiiiiiiiiiiie e
Tires & wheels, assembled, glued (SS (Split Spoke) black
chrome wheels, Maxx tires (6.3" outer diameter), foam
inserts) (2) (fits MaxXX/REVO SEIES) .....cceeerueerririeniiieeniee e
Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Maxx tires, foam inserts) (2) (fits Maxx/Revo series)...
Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (fits Maxx/Revo series) ..
Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (use w/17mm splined
wheel hubs & nuts, part #5353X) ........cccccevviiiiiiiiiice,
Tires & wheels, assembled, glued (white dished 3.8" wheels,
Response Pro tires, foam inserts) (2) (use with 17mm splined
wheel hubs and wheel nuts, part #5353X)
Tires, Canyon AT 3.8" (2)/ foam inserts (2)
Tires, Maxx 3.8" (6.3" outer diameter (160mm)) (2) (fits
REVO/MAXX SEFIES) ....ccuviviiiiiiiiiiiiic it
Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series)....
Tires, Response Pro 3.8" (soft-compound, narrow profile,

short knobby design)/ foam iNSerts (2) ........ccooeerviiiiieniiennnns $32.00
Tires, Response racing 3.8" (soft-compound, narrow profile,
short knobby design)/ foam INSerts (2) ........cccoevreiiiiieniiennnns $30.00
Tires, SportTraxx racing 3.8" (soft compound, directional

$35.00

and asymmetrical tread design)/ foam inserts (2) ........cccceeenees
Tires, Talon 3.8" (2)/ foam inserts (2)................. .
Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2)..
Wheel hubs, hex (steel)

Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

PINS (2.5X10MM) (4)1rivrerieieiieieeiesesteereeeeseeree e e steseeseesreeseeseeneens $20.00
Wheel hubs, splined, 177mm (blue-anodized) (4)/ wheel nuts,

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadloCK) (4) oot $25.00

Wheel hubs, splined, 177mm (green-anodized) (4)/ wheel nuts,
splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4) ....cocvviiiiiiiiiii
Wheel hubs, splined, 177mm (red-anodized) (4)/ wheel nuts,
splined, 17mm (red-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4)
Wheel nuts, splined, 17mm (blue-anodized) (4)
Wheel nuts, splined, 17mm (green-anodized) (4)....
Wheel wrench, splined, 17mm
Wheels, dished 3.8" (white) (2) (use with 17mm splined wheel
hubs and wheel nuts, part #56353X)... .
Wheels, Gemini 3.8" (black chrome) (2)
Wheels, Gemini 3.8" (black chrome) (2) (use with 17mm
splined wheel hubs & nuts, part #5353X)
Wheels, Gemini 3.8" (chrome) (2)
Wheels, Geode 3.8" (chrome) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X & beadlock-style sidewall
protectors, part #5665, 5666, 5667)...
Wheels, Hurricane 3.8" (chrome) (2).....
Wheels, SS (split spoke) 3.8" (black chrome) (2) (use with
17mm splined wheel hubs & nuts, part #5353X) (fits
REVO/MAXX SEIHES) ..c.viiiueiiiiiiiiiiiee ettt
Wheels, SS (split spoke) 3.8" (chrome) (2) (fits Revo/Maxx
series) ...
Wheels, SS (sp it spoke) 3.8" (chrome) (2) (use with 177mm
splined wheel hubs & nuts, part #5353X) (fits Revo/Maxx

SEIIES) ottt $10.00
Wheels, SS (split spoke) 3.8" (satin) (2) (fits Revo/Maxx
SEITES) .ttt $10.00

Transmission Compon

Ball bearings (5x11x4mm) (2) ..... $6.00
Ball bearings, blue rubber sealed (10x15x4mm) (2). $7.00
Ball bearings, blue rubber sealed (5x11x4mm) (2)... $3.50
Ball bearings, blue rubber sealed (6x12x4mm) (2) ... $4.00

Forward only conversion kit (eliminates reverse)...
Forward only shaft, steel (Revo)
Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T

input gears, hardwWare)...........cocevveiiiiic i $7.50
Gear set, 2-speed standard ratio (2nd speed gear 39T, 13T-
17T input gears, hardware)..........ccooververeeieeiie e $7.50

Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T input
gears, hardware)
Gear, 1st speed, 43T
Gearbox halves (front & rear)/ rubber access plug/ shift detent
ball/ spring/ 4mm GS/ shift shaft seal, glued
Input shaft, transmission (slipper shaft)

5390
5393

5352R

5352X

4995X

1647

4944
5355
5347

2742X
5141A

5143A

5141R

5143R

5141

5119
5116
5117
5394X
5383

5385
5384
5386

5390
5393

Primary clutch assembly/ 2x9.8mm pin/ 6x8x0.5 TW (1) .....c.cceeuen $14.00
Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/

BXBMIM TW .ot $26.00
Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum

friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm

pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) ..coooerivvrineriennens $9.50
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) ...ccoeeeee $7.50

Reverse installation kit (includes all components to add

mechanical reverse (no Optidrive) to T-Maxx 3.3) (includes
2060 sub-micro servo) .
Silicone grease..................
Washer, PTFE-coated 6x9.5x.5 (10) .

Turnbuckles & Threaded Rods

Bellcrank posts, aluminum (2)/ steering link threaded

rod (3x25mm)/ 10Ng rod €Nds (2) ......ccovverrerrieiieiie e
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mm (2)
Rod ends, Revo (large) with hollow balls (12)
Rod ends, short (6)/ hollow balls (6)
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' Wheels) ...
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,
stronger than titanium) (124mm, rear) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' wheels)
Toe links, Maxx (Tubes red-anodized, 7075-T6 aIumlnum
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
SUSPeNSIion & 3.8" WheelS) .......ccccvviiiiiiiieiiceeee e
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (124mm, rear) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels)
Turnbuckles, toe links (5.0mm steel) (front) (2) .
Turnbuckles, toe links (5.0mm steel 2).

Ball bearings, blue rubber sealed (10x15x4mm) (2) .
Ball bearings, blue rubber sealed (5x11x4mm) (2)
Ball bearings, blue rubber sealed (6x12x4mm) (2)
Forward only conversion kit (eliminates reverse)
Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T

input gears, hardWare) ...........cccooverieiiiiic i $7.50
Gear set, 2-speed standard ratio (2nd speed gear 39T, 13T-
17T input gears, NardwWare) ..........cocuerveieeireiieiee e $7.50

Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T input
gears, hardware)

Gear, 1st speed, 43T

Primary clutch assembly/ 2x9.8mm pin/ 6x8x0.5 TW (1) ........c.coc.. $14.00
Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/

SX8MM TW ..ot $26.00

If you have questions or need technical assistance, call Traxxas at:
1-888-TRAXXAS
(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-549-3000,
or fax to 972-549-3011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.coMm

REV. 141205 1450



